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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 8763 3.2 0.9 4 80.5 99.8
2 8726 2.6 1.6 6 43.4 99.4
3 8638 1.2 1.2 5 23.8 98.4
4 8706 4.2 1.7 10 42.2 99.2
5 8681 2.1 1.4 5 43 98.9
6 8725 3.6 1.8 6 60 99.4
7 8575 0.8 1 7 11.3 97.7
8 8651 2.1 1.3 6 34.6 98.5
9 8687 2.5 1.2 5 50.8 99

10 8415 0.5 0.7 6 8.6 95
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Question 
Number 


FT HT Sub-section Mark Answer Accept Neutral answer Do not accept 


2  (a) i  1 0.5; 0.55   


   ii  2 larger;  
more slits/number slits from 3 to 5; 
 


   


   iii  1 dies out/ idea of gone for ever/ no longer exists/ wiped 
out; 
 


None left  disappeared 


   iv  1 no {shells/fossils} {in top layer/ in layer A/ in that 
layer}/ no shells after {5 million years/ 2 million years}/ 
last found in layer B; 
 


   


  (b)   1 (Charles) Darwin; 
 


(Alfred) Wallace   


  Total Mark 6 


  












Sticky Note

0 marks scored. At Foundation level in particular, answers to at least some of the questions can by lifted out of diagrams, as here. However many candidates do not refer closely to diagrams, but rather go straight to the question as is seen in this example. This sort of answer was seen very often.



Sticky Note

1 mark scored. Borderline but seems to have the correct idea.



Sticky Note

Total mark = 2



Sticky Note

0 mark scored. Very few candidates scored this mark.



Sticky Note

1 mark scored



Sticky Note

0 mark scored.












Sticky Note

0 marks scored. A large proportion of the entry considered that the shell of this species evolved by becoming smaller and having fewer slits.



Sticky Note

1 mark scored. Fewer than half the entry gave the correct answer.



Sticky Note

1 mark scored. An excellent description of the absolute nature of extinction.



Sticky Note

1 mark scored. Very few candidates could give the name here.



Sticky Note

Total = 4 marks.



Sticky Note

1 mark scored. Rather clumsy explanation but seems to have the correct idea.












Sticky Note

2 marks scored. This candidate has the skills necessary to achieve highly at this level. The diagram has been studied and the information used effectively, with good use of comparatives.



Sticky Note

1 mark scored.



Sticky Note

1 mark scored. Excellent explanatory style in which layers A and B are contrasted- 'no shells in A but there were in B'.



Sticky Note

Total mark = 6.



Sticky Note

1 mark scored.



Sticky Note

1 mark scored. Not necessary to state the first name(s). Correct spelling of all names given is required. 
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(4461-01)


Examiner
only


2. (a)	 Scientists found fossilised shells of one species of animal in the rock layers of a cliff. The
age of each layer (A-E) is shown. 


(i)	 Use the scale bar to give the diameter of the oldest shell.	 [1]


Diameter = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . mm


(ii) 	 Describe two ways that the shell evolved (changed) over time.	 [2]


(iii)	 Species that fail to evolve may become extinct. What is the meaning of the term 
extinct?	 [1]


(iv)	 Scientists think that this species became extinct about 2 million years ago. Give the 
evidence in the diagram that supports this idea.	 [1]


	 (b)	 Species evolve by natural selection.
Give the name of the scientist who first described evolution by natural selection.	 [1]


		 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Question 
Number 


FT HT Sub-section Mark Answer Accept Neutral answer Do not accept 


8 2 (a)   2 A hair      
    
B sweat gland 


  Hair follicle 
 
Sweat duct 


  (b) i  2 any two from  


 sweating/ produces sweat;  


 vasodilation/ blood vessels widen; 


 hairs lying flat/ hairs lie {flat/down}/ hairs 


lowered; 


 


 Erector muscle 
relaxes 


 
sweat 
 
Blood vessels 
{open/ get 
bigger/ 
larger/thicken/ 
enlarge}/ 
expand.  
 
hairs are flat 


   ii  2 Less/not as much blood flowing (through the blood 


vessels);  


therefore less/not as much heat is {lost/ radiated}  


2nd mark linked to 1st mark 


  Any reference 
to blood 
vessels 
moving {up to/ 
down from} 
skin surface. 
No heat is lost 


  Total Mark 6 


 
 
 
  












8.



Sticky Note

2 marks scored.







Collison

Line



Collison

Line



Collison

Line



Sticky Note

0 marks scored. This candidate possibly knows and understands the process involved but the answer is ambiguous. As these are linked marks, neither point scores.



Collison

Polygon



Sticky Note

Unqualified reference to 'amount' is to be discouraged. In most contexts this will fail to score. Candidates should always seek to use a quantifiable parameter such as 'volume'.



Sticky Note

total mark = 4



Sticky Note

2 marks scored - concise and correct.












8.



Sticky Note

2 marks scored.







Sticky Note

2 marks scored. Two simple and direct answers to the command term 'State'. This is all that is required, though a description of vasodilation would also have been acceptable.



Collison

Line



Sticky Note

Very common errors:
'Less blood travels near the surface' gives the idea that the distance between the vessel and the skin surface is increased rather than less blood is flowing.



Collison

Line



Collison

Line



Sticky Note

0 marks scored. The two marks available for this question are linked, so that the second sentence does not score.



Sticky Note

Total mark = 4.












Collison

Sticky Note

2 marks scored. Exemplary answer to part (ii). Direct, cogent and with no hint of movement of blood vessels/increased distance from surface/less blood near surface.



Collison

Sticky Note

Total mark = 6.



Collison

Sticky Note

2 marks scored. The candidate goes beyond the scope of the question but displays sound knowledge ('more sweat produced) and a good reference to cause and effect for the erector muscle.



Collison

Line
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(4461-01)


Examiner
only


8. The diagram shows a section through the skin.


	 (a)	 Label parts A and B on the diagram.	 [2]


(b)	 The graph shows the body temperature of a player during the course of a rugby match.
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only
(i)	 State two responses made by the skin to cause the change in body temperature 


observed between 3.40pm and 4.10pm.	 [2]


I.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


II.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)	 Explain how the narrowing of blood vessels in the skin helps maintain body 
temperature in cold conditions.	 [2]
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Question 
Number 


FT HT Mark Answer 


10 4 6 
 
QWC 


Indicative content:  


  Credit should only be given where health issue is linked to the excess in the diet    


 ENERGY: too much energy (taken in at lunch – excess energy stored as fat) leading to obesity 


 SUGAR: too much sugar (taken in at lunch) - this could possibly lead to diabetes (type 2)/ obesity/tooth decay 


 FAT: too much fat (taken in at lunch) - (possibly) leading to obesity/ heart disease/circulatory disease 


 SODIUM: too much salt (taken in at lunch) - could lead to high blood pressure 


 EXERCISE: ref to lack of exercise affecting circulation/heart 


For marks in 5-6 range:  


Account needs to recognise, at least once 


EITHER  that the GDA is being exceeded  


OR  that only one meal is being looked at and therefore when all the daily meals are considered then the  
  overshoot of the GDAs are very great indeed. 
5-6 marks 
The candidate constructs an articulate, integrated account correctly linking relevant points, such as those in the indicative 
content, which shows sequential reasoning. The answer fully addresses the question with no irrelevant inclusions or 
significant omissions. The candidate uses appropriate scientific terminology and accurate spelling, punctuation and 
grammar. 
3-4 marks 
The candidate constructs an account correctly linking some relevant points, such as those in the indicative content, 
showing some reasoning. The answer addresses the question with some omissions. The candidate uses mainly 
appropriate scientific terminology and some accurate spelling, punctuation and grammar. 
1-2 marks 
The candidate makes some relevant points, such as those in the indicative content, showing limited reasoning. The 
answer addresses the question with significant omissions. The candidate uses limited scientific terminology and 
inaccuracies in spelling, punctuation and grammar. 
0 marks 
The candidate does not make any attempt or give a relevant answer worthy of credit. 


Total Mark 6 


  












10.



Sticky Note

Becoming repetitive with the reference to diabetes.



Sticky Note

Mark scored = 4.



Sticky Note

No reference to the lack of exercise.



Sticky Note

Linked points such as given here are required.



Sticky Note

Sugar would have been more specific.



Sticky Note

A good middle band answer. Relatively concise, in which the candidate has constructed an account which correctly links many of the relevant point, though with some omissions.








10.



Sticky Note

Mark scored = 5.



Sticky Note

Excellent account covering all four excesses, precisely  linking each of the points, with no irrelevance of repetition.
A minor spelling mistake (guidline) is inconsequential.
However, there is no reference to the lack of exercise which limits the account to the lower top band.








10.



Sticky Note

Mark scored = 2.



Sticky Note

This is a very typical low band answer. The candidate makes good reference to John exceeding the GDAs. However the question calls for candidates to consider each component of the diet and to link each excess to a specific health problem - which the candidate does, but only for the excess intake of fat. Overall the account is too generalised.
There is also only an incomplete mention of John's lack of activity.








(4461-01)
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only


Using the information and data above, and your own knowledge, describe the ways in which 
John’s lifestyle and diet could lead to health problems.	 [6 QWC] 


END OF PAPER
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10. John is a severely obese 27 year old man. He weighs 31 stone and takes no exercise. For his
height John should weigh about 14 stone. A typical lunch for John would include:


• 2 double cheeseburgers
• 2 litre bottle of cola.


The table below shows the nutrition facts for one double cheeseburger and one litre of cola. It 
also shows the Guideline Daily Amount (GDA) for an adult man.


Nutrition Facts


Guideline Daily 
Amount (GDA)


double 
cheeseburger 
(220g serving)


cola (per litre)


energy (kcal) 2 500.0 1 120.0 400.0
carbohydrate (g) 300.0 47.0 108.0


of which sugars (g) 70.0 8.0 108.0
fat (g) 95.0 105.6 0.0


protein (g) 55.0 25.0 0.4
sodium – from salt (g) 2.4 2.0 0.12


6





















Sticky Note

2 marks scored.







Sticky Note

2 marks scored. Exemplary answer to part (ii). Direct, cogent and with no hint of movement of blood vessels/increased distance from surface/less blood near surface.



Sticky Note

Total mark = 6.



Sticky Note

2 marks scored. The candidate goes beyond the scope of the question but displays sound knowledge ('more sweat produced) and a good reference to cause and effect for the erector muscle.



Collison

Line











